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On observing the options we can see that
the figure given under option (B) is indeed
embedded in the original figure. It has been
represented below,
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Hence, option (d) is correct.
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6) f3af

A. 1,5 3,6, 4,2
B.1,4 6, 3,2, 5
C.5 3,2, 1,4,6
D. 3 5, 4,6,1,2
Ans. B

Sol.

e A E -

1) o

2) Al

3) HrafchiR

4) faret

5) Jarfgfr

6) f3afr

Option (B) [1, 4, 6, 3, 2, 5] is correct
response.
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foRTRIT : 3cdeter

A. g'cxﬁr . §HCT

B. 9% : f&=ar

C. AR : USHR

D. TRTeRoT : HFATT

Ans. D

Sol.

Sadness is the opposite of Excitement.
Similarly, Condemnation is the opposite of
Respect.

Hence, option D is the correct response.

4 fAgor & gy 3R S@ 211 3R 45 &
3qard & g1 e & A0l B sre) A A
Th-ATY fFmr Srar §, daf IRomETasy fFsor
H g q S[F T Ul FT gan?

A. 75

B. 1:1

C. 53

D. 54

Ans. D

Sol. Let the quantity of the mixture be 9
litres each

Therefore

In Mixture 1:



Milk : juice =2 :1=6: 3 ie total = 9
In Mixture 2 :

Milk : juice =4:5 i.e total = 9

After mixing both the mixtures the ratio milk
: juice will be = 6+4 : 3 + 5 = 10:8 = 54
Hence, option D is the correct answer.
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All snakes are reptiles.
Some snakes and reptiles are poisonous.
So, the best venn diagram is-

Option (a) is right.

6.Fffd IR FEam3t # ¥ ds
AfRga T+ & th-ga= ¢ 3R T e gl
ag AT T S AT F e P

A. 338

B. 217

C. 28

D. 65

Ans. D

Sol.

217 - (6x6x6) + 1

28 - (3x3x3) + 1

65 - (4x4x4) + 1

338 is not following that rule.

Hence, option A is the correct response.

7.37&R & 39 TASTA T IIT Y S & TS
e Sl & IeRTel H HiASH T § W S
W HGAT B QT H|

bac cab cd a ac ca

A. bdabc

B. dcbac

C. cadbc

D. dacbd

Ans. D

Sol.

The series will be,

bacdca/bacdca/bacdca

8.fArIfafad gieor & #@El T & fou
foheT GI Tohdl ol WER Gl ST ATgu?
10+5+10x8-10=16

A + 3R =

B. - 3K +

C. + 3R x

D. x 3R +

Ans. B

Sol.

According to the question,

If we interchange the - and + sign the
above equation become correct.

10 -5 + 10 x 8 + 10 (Applying BODMAS)
=>10-05x8 + 10

=>10 - 4 + 10
=>20 - 4
=>16

The correct option is (b).
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A. 3o

B. #grear

C. arfea

D. aieredr

Ans. C

Sol.

Tapti river flows towards westwards while
all the three rivers flows eastwards.
Hence, option (C) is odd word.

108 a1¢ 3pfa & @@ aUor Sfa &1 T
S SIF gUUT @ 3MHA AT S AR TS
frar ST g1

,.,
.:: - . .:}
N
et

o |
R

i

.-‘-.___.-
A. _:L
\\H 4
o faz
%:J

e
A
D. \\
Ans. C
Sol.
In a plane mirror, a mirror image is a

R
e

reflected duplication of an object that
appears almost identical, but it is reversed
in the direction perpendicular to the mirror
surface. As an optical effect it

results from reflection of substances such

as a mirror or water.
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Hence, option (c) is correct.
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the paper is unfolded in two steps :-
Step-1

Hence, option (a) is correct.



12t% e s #, COMPUTER &
OCREPMTU & &9 # for@r el g1 341 e
ST H§ DAUGHTER &I a0 usRr for@r
SITUaTT?

A. READTHGU

B. ADTHREGU

C. ADREGUTH

D. ADERUGTH

Ans. C

Sol.
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Hence, option (c) is correct.
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A. 3

B. 6

C.5

D. 1

Ans. A

Sol.

Moving in the clockwise direction:
Cube 1- 2 6 4

Cube 2- 253

Clearly, 4 is opposite to 3.
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C. sy

D. §gT
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Sol.
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F is the wife of C’s brother.
Hence, F is the sister-in - law of C.
Option (c) is correct.
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Ans. D

Sol.



Conclusions:

I. Some animals are crows. -(false) it may
be possible

II. Some animals are birds. - (true)

lll. No animal is a crow.- (false) it may be
possible

The correct option is (d) conclusion Il and
either conclusion | or Il follows.

16.3%¢ CAB &I 6 & &7 # d2ar BED &I 40
& & H FHeaey fhar = &, af HAD &I fad
TR Feaey fhar Srean?

A. 16

B. 52

C. 32

D. 46

Ans. C

Sol.

C=3A=1B=2

The code is given by the multiplication of
these place values.

CAB=3x1x2=6

Similarly, BED= 2 x 5 x 4 = 40

Therefore, HAD = 8 x 1 x 4 = 32

Option (c) is correct response.

17.3F J¢ FT I A o gH JE&ITT 38T T
T Tefad § O veR @ AeAfaf@a ac &
et deR &

(5,13,12)

A. (13,17,11)

B. (11,15,9)

C. 15,19,13)

D. (6,10,8)

Ans. D

Sol.

The sum of all the numbers in the given
number set is even

5+ 13 + 12 =30

So, the given options-

13 + 17 + 11 = 41 (odd)

11 + 15 + 9 = 35 (odd)

15 + 19 + 13 = 47 (odd)

6 + 10 + 8 = 24 (even)

Clearly, only option (d) is related to the
given number set.

18.fFAeAaf@d IR 3MeR-THgl # § el Tk
fAffad alh & Te-gA § AR T Fea g
fa9H &7 gar &end|

A. RQST

B. FGHJ

C. MLNO

D. CBDE

Ans. B

Sol.

Except FGHJ, all other options are having
first two letters in reverse order.

Hence, option (b) is different from the rest.

19.789 T, ad@ @ FEfa § 38 yeR @
T feaa defa gl

A. §7g

B. €17

C. Tehrardar

D. wrefar

Ans. A

Sol.

As 'Audience' is a group of people who
Cinema.

come to the Similarly,



'‘Congregation’ is a group of people who
assembled for religious worship in Church.
Hence, option D is the correct response.

2039 HEA-FIH T T H forea ar e
38 9hR ¥ F@EfAd § o yeR ¥ Aeafatad
g A o Heard T ¥

7 : 32

A. 3:11

B. 13:98

C. 12:85

D. 16:145

Ans. B

Sol.

7x4+ 4 =32

Similarly,

13 x7+7 =298

Hence, option B is the correct response.
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In question figure, we can clearly see that
the 1st & 3rd figure contain similar objects
and 2nd & 4th have same objects.

We get the 3rd figure after interchanging
the two horizontal arrow lines.

*TSimiIarIy, we get the 4™ figure after
interchanging left with its diagonal.
According to the above pattern, the next
figure in the series is-

=)

T

Option (b) is correct.
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=

The following squares formed in the figure-



ABCD, EFGH, EBGQ, FDHQ, AEQF,
QGCH, BIRK, EIRJ, JRLQ, RKGL, QMSO,
FMSN, NDPS, SPHO

The total number of squares is - 14.
Therefore, option (d) is correct.

23.39 fasheq &1 9T Y S AR HER-THg
¥ 3 IER § FERdT § o9 IR @ gEr
IER-TAE Tgel IER-TAg ¥ HAd B
MNOP : LONQ :: FGHI : ?

A. GFIJ

B. EGHJ

C. DHGK

D. EHGJ

Ans. D
Sol.
M N 0 P
—1| +1| —1| +1‘
L O N Q

Likewise,
F G H I
—1| +1{ —1| +1‘
E H G ]

Thus, the correct answer is option (D).

24,39 ¥ F TIT Y o FH TE&ATU AT ThR
¥ gaftd § o R & fAeafaf@aa ae $ir
e’ Tefad g

(8,12,24)

A. (6,9,18)

B. (12,20,40)

C. (6,10,18)

D. (9, 18, 27)

Ans. A

Sol.

+6

1

+4 +12
a 12 24
Similarly,

+6

1

3 +9
6> 9 18

Hence, the correct option is (a)

25.Tsh 3phA fear I §, SEH @ U g
e g U v fawedt # § a8 @l e
ﬂﬁv’m ) ?ﬁqt\Tl'aTl]

98, 95, 86, 82, 66,7, 36
A. 58

B. 60

C. 61

D. 63

Ans. C

Sol.

The series will be,

r d £

i F ot o a7 wm =

k]

Hence, option C is the correct response.

26. 7Y ¢ & a1 fhd AR Y 2Mid &1
Alde qUERR fAem?

A. . TETHSOTT

B. Wall &

C. . gerfiian

D. Sharer Tt

Ans. D

Sol.

¢ Kailash Satyarthi received the Nobel
Peace Prize after Mother Teresa from
India. He shared the prize with Malala
Yusufzai of Pakistan in 2014.



e Satyarthi is a Children Activist and
founder of Bachpan Bachao Andolan,
Global March Against Child Labour and
Global Campaign for Education.

27 fAFafaf@a # @ &l @ g §e9d s
wfafsmamelier g 87

A. HIW

B. hfora

C. dlg

D. G

Ans. B

Sol.

* Calcium is the most reactive element in
above given elements.

* The reactivity of elements in periodic table
can be predicted by The activity series
which is basically a chart of metals listed
in order of declining relative reactivity.

* Calcium comes after Lithium, Potassium
and Strontium in Activity series of metals.

28 R i @t T A1 v e
AT H YeTel HT ST TH G ARSI Tl
weor feaw 2019, 21 AT AR HH &
Y HATAT 17|

A. FEIOT FFT

B. g1 3iIX fem

C. g 3R wfexor

D. g AR T&F'

Ans. B

Sol.

* International Day of Forests 2019 was
observed on 21%' March with the theme of
Forest and Education.

* The theme for each International Day of
Forests is chosen by the Collaborative
Partnership on Forests.

29 ffaf@a & @ & @ urg qead Hfew
AHAT (hIFC) T &2

A. fea

B. dles

C. AW

D. TegfafaaA

Ans. B

Sol.

* Gold is the most ductile metal, one
ounce of gold can be drawn into more than
80 Km of thin gold wire.

* Ductility is the ability of a material to
undergo plastic deformation before rupture.
* Ductility is often characterized by a
material's ability to be stretched into a wire.

30.9Rd & & (Ja) H F&dT ®9 ¥ gHAA &l
HUPR 'HRA & HAU & T HANA
@R Bl

A. 3Tee 24

B. 3=t 21

C. 3Izde 14

D. 3ffeie 19

Ans. D

Sol.

Article 19(1) says :

(a) to freedom of speech and expression
(b) to assemble peaceably and without
arms

(c) to form associations or unions

(d) to move freely throughout the territory
of India

(e) to reside and settle in any part of the
territory of India

(f) to practice any profession, or to carry
on any occupation, trade or business.

31.F=aff@a & O Hia ar Faead g F
37T 37T 82



A. e e
B. Gda

C. fafaaAtor

D. AT

Ans. A

Sol.

* Quaternary sector is a sector in economy
which include Knowledge based economic
sectors.

* Information Technology, Media Research
and development, Software solutions,
Blogging, Designing etc comes under this
category.

32.7icaT solfeh e AT T TfeT shell, ST FHust
W Tihell (HeIHAE) & cgaiedd  FRaiene
39N FXdl g, H I &
AR a1 7 FRar S gl

A. FRES

B. AL Yo

C. 3ferm

D. AgRISE

Ans. B

Sol.

* Nandna block print is colourful art
printing of motifs on fabric practiced in
Tarapur village of Madhya Pradesh.

* Nandna printed fabric was regularly worn
by the ladies of Bhil tribe.

* It include Traditionally four motifs namely,
Mirch (chilli), Champakali (magnolia bud),
Amba (mango) & Jalam buta (creeper web).

33.fF8 3u=grg A’ & fov Wigary SR
Mg QESR 2019 & FFATAT fomam arm
ar?

A. TSI TGS

B. 10T grHaredr

C. HfAT Oy

D. gg&ar orfgst

Ans. B

Sol.

* Rana Dasgupta was awarded the
Rabindranath Tagore Literary Prize 2019
for the novel ‘SOLO'.

¢ Dasgupta is the Literary Director of the
JCB Prize for Literature.

* Tokyo Cancelled was the first of Rana
Dasgupta.

34. , S RfFFa #1 fGsaa @ iz §,
1962 # #RG W Ao ITHAT & 6§ @&
T AT, WAfeheT 2006 H Ry & @rer fear amr
FifF ot gt 1 wERt ¥ afE AE &
FATEIA 39! SR HT qGTo1 1 haell o]
A. afag @

B. gefdl @1

C. ¥l o

D. &r o

Ans. D

Sol.

* Nathu La Pass connects Sikkim to Tibet.
* Nathu La pass was closed in 1962 after
Chinese Aggression and reopened in 2006.
* Nathu La is one of the three open trading
border posts between China and India, the
others are Shipkila in Himachal Pradesh
and Lipulekh at the trisection point of
Uttarakhand-India, Nepal and China.

35.fAFATai@d & & e HeaaAe T &M el
U1? 9 9= Alfeleh I Hcg & dle AT el
3R T ger hr FATIET H

A. foIrE 3¢ § doldd

B. geddtaer

C. ATRAT-3e-&1 HeHG

D. FJ9-3¢-8lT U

Ans. D



Sol.

* Qutbuddin Aibak was slave of
Muhammad Ghori and became ruler of
Delhi in 1206 and his dynasty was
recognized as Slave Dynasty.

* Aibak was succeeded by Aram Shah, and
then by his former slave lltutmish.

* He constructed Qutub Minar in Delhi and
Adhai Din ka Jhopra in Ajmer.

36.HRAT HARET 31@11‘211? e (ISRO) &
3eeT 3R UeH HNUT 37aTS § FEATA, e
s g &1 @ AT R, S e
e ggel & U H HIST UG HT HeT A
YA A Tl Tgell ARG HARET AT &ef
T

A. gex TTarg

B. . ITHSUTT

C. Hell A

D. #cel Fretenfor

Ans. B

Sol.

* K Radhakrishnan was the chairman of
Indian Space Research Organization
during 2009-2014 and played vital role in
making the Mars Orbital Mission a success.
* Mars orbital mission was planned and
executed between 2010-2014 and India
became the first country to make it a
success in its maiden attempt.

* It costed about 4.5 billion INR.

37.9Rd H e el TSI JSTATT Bl AT
g7

A. TSET TSTATIT 48

B. TSGR ISTATIT 44

C. TG TSATT 53

D. ISET ASTATT 27

Ans. B

Sol.

* National Highway 44 is the longest
highway in India.

¢ It begins from Srinagar and ends at
Kanyakumari passing through Delhi and 10
States.

¢ Central Public Works Department is
maintaining National Highway 44.

38.dll& 3Eradd &I fa&\T & dgd fRar
I Bl

A. ST FaT grireoT Jffags

B. =1 YemHA HfAfAT#H

C. FETEYAT 3R FATU JTAfIs

D. Siefelt FAT Jfafage

Ans. A

Sol.

* Lok Adalat have been created under
Legal Services Authority Act, 1987.

* Concept of Lok Adalat is mentioned under
Article 39A and its objective is to for
provide free legal services for the citizens.
* There are two types of Lok Adalat i.e.
permanent and non permanent.

39.8TRA W ATHA FIA aTell Ggell HITeld dm
Pl AT UT?

A. TeTH g

B. eTeleh der

C. arefy ger

D. f&ershr ger

Ans. A

Sol.

* Slave dynasty rule from 1206-90 and
became the first Muslim dynasty ruled
over India.

* Though India was invaded multiple times
before this i.e. Muhammad Qassim,



Muhammad Gori etc. but Slave dynasty
became the first dynasty to rule over India.
* Qutbuddin Aibak, lltutmish, Razia Sultan,
Balban were eminent kings of this dynasty.

40.f=fof@a & @ fhg Jarea F AvaEd
HISTT ISPl o] hr?

A. GiATTS® =g AR AfRERar #area

B. 7g ATy

C. AAg Fare fd&ma Ao

D. HATS FHedToT HATA

Ans. C

Sol.

* Ministry of Human Resources and
Development is implementing Mid day
Meal Scheme.

* This scheme was launched as a Centrally
Sponsored Scheme on 15" August, 1995.

* In 2001 MDMS became a cooked Mid
Day Meal Scheme under which every child
in every Government and Government
aided primary school was to be served a
prepared Mid Day Meal with a minimum
content of 300 calories of energy and 8-12
gram protein per day for a minimum of 200
days.

41fRg _ Raw 2019, 22 &A™ &
HRPRET THEE W A Ffegd A ¥ v
NfFer AF a7 NeEs’ /YT F e F=RT 737)
A. 9aTazor

B. g

C. Jol

D. Ueiferas

Ans. C

Sol.

* Water day is observed every year on
22" March.

* The theme of 2019 Water day was
‘Leaving no one behind to focus on
marginalized groups.

* The sustainable development goal 6 aims
to ensure availability and sustainable
management of water for all by 2030.

¢ Every year, UN-Water sets a theme for
World Water Day corresponding to a
current or future challenge.

42530 2019 H U & TEER H o
HIA HI FIANTNGT 7 FG0T ggah S

A. FAY HifAS

B. §u= HE

C. Ufga ard

D. | FAR

Ans. B

Sol.

* Makran Cup Boxing Championship was
held in feb, 2019 at Chabahar, Iran.

* India won one gold medal in this cup
which was snatched by Deepak Singh.

* P Lalitha Prasad (52kg), Manish Kaushik
(60kg), Duryodhan Singh Negi (69kg),
Sanjeet (91kg) and Satish Kumar (+91kg)
are five silver medal winners.

43.53G 2019 #, AT o o & TR A
AT 9 98T §  T9UT Ueeh 3R 9
& G Sid|

A ar

B. et

C. IR

D. T

Ans. D

Sol.

* India won one gold medal and five silver
medals at Makran Cup Boxing in Iran, in
feb, 19.



* Gold medal is snatched by Deepak Singh
who defeated Jaafar Naseri in Finals.

44 SEFT TENRG WS d Ugdl,  SIGEAT
o A I T wfa
o

A. 9CTHd

B. Vgl

C. gae

D. SieTR

Ans. B

Sol.

* Aihole is the first capital of Badami
Chalukyas before they moved to Badami
which is located at 35 kms from it.

* Aihole is an important archaeological site
and recognized as UNESCO World heritage
site.

¢ It is situated near Malaprabha river valley,
in Bagalakote district of Karnataka.

45 AeaeAIHIor Hr gishar A &g 9 FAT STeTAT
ST 87

A. HW

B. oi&

C. et

D. TegfAfaTH

Ans. B

Sol.

* Galvanization is a process of applying
a protective Zinc layer on Iron to prevent
from rusting.

* Iron is generally dipped in hot molten zinc
in this process.

e Zinc layer on Iron eradicated direct
contact of Iron to atmospheric moisture thus
protecting it from corrosion.

46 SRS aTer [T o #H 9T S
gl

A. AL geA

B. RRATae ucer

C. Rafdsn

D. 3nfsam

Ans. A

Sol.

* Bagh caves are situated in state of
Madhya Pradesh, Dhar District.

* Bagh caves are known for rock cut
architecture. Mainly
Buddhism.

* All of the 9 caves are viharas- the caves

inspired from

used for residence by Buddhist Monks.

47 STEYX ASET 3Tl Hgl U 872

A. FcEh

B. &l

C. ToRTd

D. Tafdesa

Ans. A

Sol.

* The bandipur National Park is situated in
Karnataka and it is established in 1974.

* It is a tiger reserve National park.

* Bandipur is located in Gundlupet talug of
Chamarajanagar district.

48._  ugel Htaw amms a1 fowd
THISY & I G Rl T 3Heh STaioT R
T BT 3T ATl

A. 3TcaT3edle T&erslT

B. SclTdl-38-get T&ershr

C. fourE 3¢ & Jaed

D. RISt g JTeieh

Ans. A

Sol.



* Allaudin Khilji covered almost the whole
of India up to its extreme south.

* He fought many battles, conquered
Gujarat, Ranthambhore, Chittoor, Malwa,
and Deccan. During his reign of 20 years.
* He died in 1316 AD and after his death
Khilji dynasty came to end.

49 s Afeed & A & Tmer 3Rk
A1 s fear?

A. ASHT B3

B. IFH Foih

C. g9 frfiRaasr 3eds

D. 3ig &Y vriRR

Ans. D

Sol.

* Andre Marie ampere founded the
science of electromagnetism.

* Electromagnetism is the science of charge
and of the forces and fields associated with
charge.

* Electricity and magnetism are two aspects
of electromagnetism.

50.fFATIET & ¥ Sl 3Siled W FI A€
AT 82

A. Hel

B. &eieT

C. FRA

D. fafasre

Ans. A

Sol.

* Chlorine is responsible for destruction
of ozone layer. Bromine also does the
same effect.

¢ Chlorofluorocarbons, hydro chloro fluoro
carbons, carbon tetra chloride etc are some
other ozone depletion compounds.

e Ozone layer absorbs harmful UV
radiations of sun.

51.7a & 915 drforer 5 qut 7 T &I ganrT
faffieer ®RT & 3curgar & g2l § (B3R ).

car A B C [ E
Far
2014 | 52| 54| 48 | 45 | 64
2015 | 47 | 45 [ 53 | 50 [ 45
2016 | 48| 47 [ 56| 54 [ 65
2017 | 43| 50| 57 [ 67 [ 62
2016 | 38 [an [ 5 [ s8] 70

gy 2015 & ey C 3R a¥ 2017 & &394 D
& THHTY Fel 3cdlee A1 a¥ 2016 # <159 B
3R ¥ 2017 # 3T A & THATT Fol ScTest
¥ e Jegara 82

A. 12:11

B. 13:10

C. 11:9

D. 4:3

Ans. D

Sol.

Production of type C cars in 2015=53

Production of type D cars in 2017=67
Total production =53+67= 120
Production of type B cars in 2016=47
Production of type A cars in 2017=43
Total production =47+43 =90

Ratio =120 : 90

=4 :3

52.A 3R B % g P 3R Q & Tshgay &r
3 AT F @ | THGEY &l 9N & & d1G
A 3R B 39 Iecded Q IR P W 9ga &
|

-

T wae: B g 3R 8 "¢ FT HT od
¥ afr B $r afy 16.8 fravder &, & A &
T & (p.##):

A. 20.8

B. 19.8

C. 19.2



D. 204

Ans. C

Sol.

st A e i Uy e cnpb s e eamanag st
Sp""l.'w.uill"a‘ I"' E'f-u"'\. |.l |".'-'\. ||.-'r 'I|.||:' |'|IIII l' '|'|I
speedof A _ IIE

spead of 8 ,_J{:u:l = 8/7

Speed of A = (8/7) x speed of B
Speed of A = 19.2 km/hr

53.af¢ 12 cot?®0 - 31cosec 6 + 32=0, 0°
<0<90°, dr tan 6 &I AT gHM:

-
Ve

c. 4

4 4
D. 53

Ans. A

Sol.

12cot?0 - 31cosecd + 32 =0
12(cosec?® - 1) - 31cosech + 32=0
12cosec?® - 31coseco + 20=0
(4cosecH-5) (3cosech-4) =0
Cosec6=5/4 and 4/3

We see, When cosec6=5/4

Then tand = 4/+(5% — 4214/
when cosec6=4/3,

then tano=2/v 47 — 32

—

3 3.7
=-|'_-|r= b}
27

Therefore, tan 6= 4/3 and =

54 ABCD ts §Hdd § fo@d AB || DC 3R
ga+ fawuT P W Fred g afg AP= (3x -1)

a#Y, PC=(5x-3) T, BP (2x +1) I+ 3R
PD=(6x-5) @&, ar DB &I &aTs &:

A. 14 @

B. 12 @&

C. 10 o.a

D. 16 @&

Ans. B

Sol.

/.
é ‘ &
- i

Given, AB||DC, AP= (3x - 1) cm, PC=(5x-
3) cm, BP= (2x +1) cm, PD=(6x-5) cm

A APB ™ A CPD

AP/PC = BP/PD

3x—1 Zdx+1

Ry 31 ArY &

18x%-21x+5=10x% - x - 3

8x2-20x+8=0

2x2-5x+2=0

On solving further,

2x2-4x-x+2=0

(x-2) (2x-1) =0

Therefore x=2,1/2

But x cannot be equal to %2 as on putting

x= % we will get negative values for PD
and PC, which is not possible.

Putting x=2

BD = BP + PD = 2x+1 + 6x - 5 = 12cm

55 VSRC B+ C08 e B yftan’ B+sin’ @ o
AT &

A. Cosec 8sec?d

B. sinfsec®

C. sinbcos?d

D. Cosec 68cos?0

Ans. B

Sol.



(solved for vian? # — sin® iy

vesec? # + cosec? 8

vian2 @ — sin?2 @
=sech. cosecH x sin’0.sech
= sinfsec?0

56.T% HTfcdeh soldAThk 9189 HI AT 7480
el QAT 8] Il suhr dars 1.4 7@ § 3R sahr
Il Bear 9 @A § ar 3w Al g (

A 1 @A

B. 0.8 &#Y

C. 0.9 @&

D. 1.2 &+

Ans. A

Sol.

Given is r1=9cm, h=1.4m=140cm
Volume of cylinder=7480cm?

Z 9t —r2]x 140

Volume of cylinder =
=7480

=81-r,%=17

R,=" B4=gcm
Required thickness of cylinder=ry-r,=9-
8=1cm

1 1

XN=4a+4 W

1l
=]

s7afe 0 a4 3R aoar

e.,'fn. el SRS b TR

A. 16a°
B. 8

8
c.
D. 4
Ans. D
Sol.

S+t = 2x2y?
JO7 =y

=x2-y2
1 2 i ] 2
{ﬂ } .!:-) Lﬂ ﬂ) =4

58.G f3%[eT ABC &T &wgeh 8, el AB, BC
3T CA A 7 9., 24 T.7 3R 25 9.A
g, ar BG &

r-\.'l- . Lt 1
A A9

3 : £l
B. 3

5 : ol
c. 2

4 : cim
D. 6
Ans. B
Sol.

Triangle ABC is a right-angle triangle.
So, in A ABC, median BP will be half
Of hypotenuse.
So, BP=25/2=12.5cm
We know that centroid divides the median
in the ratio of 2: 1
nl
So, BG=2/3 X 12.5=50/6="=
59.73 & 18 darforer 5 auf H T ST ganrT
faffiet FRT & 3caEa #1 gl § (FaR H).

Zan = 1) E O e
'I:'-HHF | |
UG | 2| b4 | A -‘1b_ al |

JO1E] 47 | 49% ) 52 | S0 9%

2016 | 40| 47 | 56 | 54| 45

| e O =L = =l I

20168 | 50 |40 | 54 [ 56 70

Tl ure st # <59 B #R & Fel IcUlee
ay 2017 & @37 A, B 3R D &R & frdar
gfaerd AfRE g2

A. 495

B. 4.5




C. 573

D. 32.2

Ans. D

Sol.

Total production of type B cars
=54+45+47+50+40 = 236

Total production of type A, B and D cars
in 2017 =43+50+67=160

% increase 236-160/236 =32.2%

60.57r & 915 arforr 5 auf 7 T FHuelr ganT

faffe FRT & 3cdea # g2l § (BN H).
car &R lCc o lE |

Yoar

2014 52 [ 54 | 45 |46 | 54

25| 47[ 45| 53] 50| 45

016 B[ 47| 55] 54| 65

27| 23| 50|57 87 63

ZIHIRE| SR 4A0 | 52 | BE ! ™

g gt & 8T D $R H 3cdiesT ay 2018

# T8Y E R & 3cuied ¥ fhasr ufaera s

§? (Fehca#d cudda deh)

A. 18.6

B. 16.8

C. 159

D. 174

Ans. A

Sol.

Total production of type D cars in 5 years

= 46+50+54+67+68 =285

Average production of type D cars =285/5

= 57

Production of type E cars in 2018 = 70

% Less = (70-57)/70 x100 = 18.6 approx.

61.397¢ gcds 21,22,60 3iR 64 & x FI TerAm
ST 8, o 30 %A # Icd &AW FATITA
gl (x+1) 3R (7x + 8) & ATLH FATUTA FIT
&7

A

B. 18

C. 24

D. 21

Ans. C

Sol.

Given numbers are 21,22,60 and 64
Now, x is subtracted from the number
So, (21-x) :(22-x):: (60-x):(64-x)
(22-x) (60-x) =(21-x) (64-x)

X=8

Mean proportion of (x+1) &(7x+8)

= ‘-,."lc.a #6042 oy

6257 & 91 Arfershr 5 a6t & T FHoelr ganT
faffiee ®RT & 3curgar & g2l § (B3R ).

a e e |olFE |

HIY
e
2014 | 52 | 54 | 96 | 96| 64 |
20451 47 |45 | 53 | 50| 495 )
2016 | 48 [ a7 [ 56 | 54| &5
| 2047 | 40 [ 5¢ | 57 | 6¥ | &3 |
2018 ] 38| an | 54 | 6E| 70|

Ifg 2018 H HR § FERIA ScdleeT Hl g TE
EART TAT 1T &, df C YR & Icdieel l
Yefda Fe I WS H FeErT IO QT

A. 72°

B. 59°

C. 93°

D. 91°

Ans. A

Sol.

Total production of cars in 2018

= 38+40+54+68+70

= 270

Production of type C car in 2018= 54
Central angle = 54/270 x 360°

=72°

63.ABCD T whig uqgsfsl & o fashol
g P w ufaesde & 8 afe AB=BC,



«DBC=70° 3R «BAC=30°, d@ 2« PCD &r
AT

A. 35°

B. 50°

C. 55°

D. 30°

Ans. B

Sol.

Given that AB=BC

So, «BAC= «BCA= 30°

And

«DBC=sDAC = 70° {Angle made by cord
CD)

In cyclic quadrilateral opposite angles are
supplementary angle

So «BAD +,BCD = 180°

100° + «BCD = 180°

< BCD = 80°

So, angle «PCD = 80-30 = 50°

64.939 A 3R B U& & &l HAA: Tk ©C
IR G g¢ # R Fhd g S&fek 989 C 39
&P 1 T G Ugg Ade & Well F Fehdr
gl A 3 C & THaEry 9 Yaied W @l STl
2| ar "¢ 91g Fad A H §¢ HY e AT §
3R B &1 Gell I@T el &] & fovctel st @relr
gem?

A. 12:10 ALIQIEA

B. 11:30 gatest

C. 10:30 qateat

D. 12:20 #&grEa

Ans. D

Sol.

Let the total work =LCM of (1,2,5/4)

= 10 units

Efficiency of A= 10/1 =10 units per hour
Efficiency of B =10/2= 5 units per hour

Efficiency of C = 1075/4 =-8 units per hour
Work done by A+C in 2 hours= (10-8) x 2
= 4 units

Efficiency of B and C = -3

Therefore, time taken by B+C to empty the
tank= 4/3 hours = 80 minutes

Now the time = 11:00+ 1hr 20minuts

= 12:20 p.m.

65.37¢ 8 3 T HEAT 2074x4y2, 88 &
forsT §, d (4x + 3y) & A &

A. 49

B. 36

C. 42

D. 45

Ans. D

Sol.

For a number to be divisible by 88, the
number should be divisible by both 11 and
8.

A number is divisible by 8 if the number
formed by the last three digits is divisible
by 8.

4y2 should be divisible by 8.

So,y =3 ory =7

A number is divisible by 11 if the difference
of the sum of its digits at odd places and
the sum of its digits at even places, is
divisible by 11.

(2+4+4+0) - (y+x+7+2) = 0 or 11

Now, x+y-1 = 0 (for y=3)

X+3-1=0

X=-2 ... digit cannot be negative

And, xty-1 = 0 (for y = 7)



= -6 ...digit cannot be negative
So, x+y-1=11
X=5fory =7
4x+3y = 4x5 + 3x7 = 41 (not in options)
X=9 for y=3
We have x=9 and y=3
4X+3y=4:'{|:} | 33{3=45

66.37¢ (8x> - 27y%) + (2x - 3y) = (AX® +
Bxy + Cy?), a (2A+B-C) &T & &:

A. 4

B. 6

C.5

D.3

Ans. C

Sol.

(@ b =(a-b)(@®" ab + b?

=(2x)0 — (3y)? = (2x — 3y)[4x* + 9y
= (Bx? —=27y*) J(2x—3y) = (2x— 3
= 4x*+9y+6xy

Comparing the above equation with AX? +
Bxy + Cy?

We have A=4, B=6, C= 9

Then (2A+B-C) = 8+6-9 = 5

67.0h AABC # Us gd AT §, St AB &r
P W, BC & Q W 3R AC & R W ¥
AT & I AR = 5 F#, RC = 6 T 31K
AB = 12 @&, dr AABC &1 9R&AT §:

A. 40 @FY

B. 32 @t

C. 37 @&

D. 36 @&

Ans. D

Sol.

a .

In the above figure,

We know that CR = CQ, AR = AP, BP =
BQ (tangents on a circle from an external
point are equal)

Therefore

AR= AP = 5cm

CR = CQ =6cm

PB =AB - AP =12 -5 = 7cm

BP = BQ = 7cm

Perimeter of the triangle = AR +AP + BP
+ BQ + CQ + CR = 36cm

68.A &I 3T B &I 3T & 50% IAF §| Ay
A@rmﬁm%aﬁ%ﬁm%ﬁTB@r
3T # 90% W Fefr 1 S ¥, A I Tk
# gfaerd gefer &

A. 64

B. 55

C. 60

D. 70

Ans. C

Sol.

Let starting income of B =100

Then, starting Income of A =150

Income of A is increased by 40%, so new
income of A= 150x140/100= 210

Income of B is increased by 90%, so

New income of B =100x 190/100=190
Total starting income =100+150=250

Total new income=210+190=400

k=2 b0l .
% increase= 4t * 100 = 60%



s @ —cosd +1 4

69. sitt F+cis & — |
A. Sec 6 Sin 6

B. Sec 6 tan 6

C. Sec 6 +tan 6
D. Sec 6 - tan 6
Ans. C

Sol.

sint — cost + 1

ginfl 1+ rnsf 1
sind — {cosd — 1)  sin# — (cost — 1)
siné + {cost — 1) % sin® — (cosd — 1)
gin® & + (cosf — 1)* — 2sind(cosd — 1)
sin? @ — (cosd — 1)2
On simplifying the above equation, we get
2— 2cos8 + 25inf — 2sinfcosf
2eosB(1 - cosd)
(1—cosf)(1 + sind)
cos@(1 - cost))

1+zlwmid
= razfd = Sec O + tan 0

70.af¢ ab + bc + ca=8 3R a? + b%+c?=20
g, a 1/2 (a+b+c) [(a-b) 2+(b-c) *+(c-a) %] &r
YollcHeh FHed [

A. 72

B. 56

C. 84

D. 80

Ans. A

Sol.

We know,

(@a+b+c*  a?* b?*c®+ 2ab + bc +
ca)

=20+ 2x 8 = 36

atb+c = 6

Therefore,

1/2 (a+b+c) [(a-b) +(b-c) *+(c-a) %] = 1/2
(a+b+c) [2(a®* b?* c?) - 2(ab+bc+ca)]

=1/2 x 6 [2(20-8)]

=72

71.0h GHEER 30l aEIT W AN Hed
¥ 40% 3R Fqea 3iferd aar § 3R 3ifed
Hed W 25% T B YTl AT §. SHeT ofleT
a1 gifel gfderd §:

A. 5% gIfel

B. 15% <

C. 10% gIfer

D. 5% dITer

Ans. D

Sol.

Let the cost price (CP)=%100

Now, Marked price (MP)=%140

At 25% discount,

Selling price (SP)=140x75/100 = %105
15— 100
% profit=" 1an

b 'I[]If]-—5%

72.4. R8T TEan3it &1 3ad 80 §. ugelr Ui
et @1 Aad 745 § 3R 3wmer 9=
T3 #r daa 82.5 g 114 dwar 124t
&I & 6 AMU® g 3R 1247 F&ar 1347 g&ar
T 6 FA g 1137 3R 133 FEar & g
FT 87

A. 87

B. 86

C. 86.5

D. 87.5

Ans. A

Sol.

Sum of 13 number=13x80=1040

Sum of first five number=5x74.5=372.5
Sum of next five humber=5x82.5=412.5
Sum of first 10 number =372.5+412.5
=785

Now, sum of last three number =1040-785
=255

According to question,



X+6+x+x+6=255

X=81

11" number=87

13" number=87

Average = (87+87)/2 =87

73.T (5+3+5x5+ (4+4+4x4 HT 4x4+4) T (6

FI 3+3) F AW &
1

B
A P
- |
B. 3
L3
c. s
2
5 -
D. A
Ans. C
Sol.
(5+3+5x5+ (3+3 of 6) of (4x4+4 of 4+4+4x4)

= (5+
;xB_‘J c(3:3x6)of (4% 416
4+ 4 x4

8 (Hof(ax "t +1x4)

=8+%G‘f 5

3
_8x6/5 = 48/5 = =
7415000 ¥ & TR HF 16% Ufdaw
The STl W 3UR AT Srem &, qEv av
AR AW a¥ & AU Thaefs AT & ALY
fohdelr IR 82
A. 3544
B. 3445.44
C. 3454.88
D. 3548
Ans. B

Sol.

Amount after 1% year = 15000(1+16/100)
=Rs. 17400

Amount after 2" year = 17400(1+16/100) =
Rs. 20184

Amount after 3 years = 20184(1+16/100)
= 23413.44

Interest for 2" year = amount after 2 years
- amount after 1 year = 20184 - 17400 =
Rs. 2784

Interest for 3" year = amount after y years
- amount after 2 year = 23413.44 - 20184
= 3229.44

Difference in interest = 3229.44 - 2784 =
Rs. 445.44

75.Uh hfFd TH a&] T 8% H gIfd W
IIar &, Ife a8 59 10.5% F T 9 ST
ar 38 9250 ¥ 318 grcd gid| 12% o
AT A & AT 30 38 aF] A Rl Hrad
W 99T AT

A. ¥ 540.50

B. ¥560

C. %580

D. %537.40

Ans. B

Sol.

Let the cost price be 100 units and is sold
at 8% loss, selling price (sp)=100x92/100
=392

Further 10.5% gain, selling
price=100x110.5/100
=%110.5

According to the question, difference in
selling prices is Rs.92.5

So, 110.5-92=18.5

18.5 unit =92.5

1 unit=Rs.5

Therefore, cost price will be =100x5=500



At 12% gain, selling price will be
=500x112/100
=560

76.Select the wrongly spelt word.

A. contamporary

B. cooperation

C. controversial

D. conquer

Ans. A

Sol. Option A has the wrongly spelt word.
The correct spelling of the word is
‘contemporary’ and it means ‘living or
occurring at the same.

77.

[[[Common]||| Direction: Given below are
four jumbled sentences. Select the option
that gives their correct order. |||[End]||

A) Around 600 million of them live in areas
of high to extreme water stress.

B) India is suffering from the worst water
crisis, with one billion people living in water
scarcity.

C) This is even more than of China and
US combined.

D) The reason is that at 24 per cent, India
uses the most groundwater drawn out
globally.

A. BADC

B. ACBD

C. ADCB

D. BDAC

Ans. A

Sol. The sentence B is the first sentence
as it introduces the theme of the passage
i.e. ‘water crisis suffered by India’. The
sentence A should follow the sentence B
as it further gives the number of people

living in areas of high to extreme water
stress. The sentence D tells the reason of
water crisis, hence, becomes the third
sentence in the passage. The sentence C
finally concludes the passage aptly. Hence,
option A is the correct answer.

78.

[[lCommon]||| Direction: Select the synonym
of the given word. |||End]||

TRIUMPH

A. fight

B. victory

C. attack

D. peace

Ans. B

Sol. The meanings of the given words are:
Triumph: a great victory or achievement.
Fight: take part in a violent struggle
involving the exchange of physical blows or
the use of weapons.

Victory: an act of defeating an enemy or
opponent in a battle, game, or other
competition.

Attack: take aggressive military action
against (a place or enemy forces) with
weapons or armed force.
Peace: freedom from disturbance;
tranquillity.

Therefore, option B is the correct answer.

79.

[[lCommon]||| Direction: Select the correct
passive form of the given sentence. |||[End]||
At night, lock the outer gate.

A. The outer gate is requested to be locked
at night.

B. The outer gate be locked at night.

C. Let the outer gate be locked at night.



D. The outer gate is locked at night.

Ans. A

Sol. The following rules should be
considered while changing active form to
passive voice:

e The places of subject and object will be
interchanged in the sentence.

e Only 3rd form of the verb or Past
Participle will be used as a main verb in
the Passive Voice.

Therefore, option A correctly provides the
passive form of the given sentence.

80.

[[[ICommon]||| Direction: Given below are
four jumbled sentences. Select the option
that gives their correct order. |||End]||

A) Mango, the so-called “king of fruits”, is
something of national obsession in India.
B) There was a bumper crop of mangoes
in different states.

C) It resulted in prices coming down and
sales going up-much to the delight of
buyers and sellers alike.

D) 2017 proved to be a very good year for
mango lovers.

A. ADBC

B. CDAB

C. CADB

D. ADCB

Ans. A

Sol. The sentence A is the first sentence
as it introduces the theme of the passage
i.e. ‘mangoes. The sentence D should
follow the sentence A as it further tells
about the year which proved to be a very
good year for mango lovers. The sentence
B should be the third sentence as it tells
the reason for the good year for mango

lovers. Finally, the sentence C concludes
the passage aptly. Hence, option A is the
correct answer.

81.

[[[Common]||| Direction: Select the most
appropriate word to fill in the blank. |||End]|||
The burning of the effigy of Ravana on

Dussehra the burning of all evils.

A. epitomizes

B. intensifies

C. personifies

D. symbolizes

Ans. D

Sol. The sentence implies that the burning
of the effigy of Ravana on Dussehra
represents the burning of all evils.
‘Symbolize’ means ‘be a symbol of and it
fits best in the context of the sentence.
Therefore, option D is the correct answer.

82.

[[[Common]||| Direction: In the sentence
identify the segment which contains the
grammatical error. [||End]||

Every employee of the company were given
a two bedroom flat as Diwali bonus.

A. as Diwali bonus

B. a two bedroom flat

C. Every employee

D. were given

Ans. D

Sol. ‘Were given’ is erroneous because the
pronoun ‘every’ is always followed by a
singular verb. Therefore, ‘were’ must be
replaced with ‘was’ to form a grammatically
correct answer.

Hence, option D is the correct answer.



83.

[[[Common||| Direction: Select the antonym
of the given word. |||End|||

AGONY

A. anxiety

B. distress

C. comfort

D. misery

Ans. C

Sol. The meanings of the given words are:
Agony: extreme physical or mental
suffering.

Anxiety: a feeling of worry, nervousness, or
unease about something with an uncertain
outcome.

Distress: extreme anxiety, sorrow, or pain.
Comfort: a state of physical ease and
freedom from pain or constraint.

Misery: a state or feeling of great physical
or mental distress or discomfort.
Therefore, option C is the correct answer.

84.
[[lCommon]||| Direction: Select the synonym
of the given word. |||[End]||

INDELIBLE
A. illegal
B. illegible

C. inerasable

D. ineffective

Ans. C

Sol. The meanings of the words are:
Indelible: (of ink or a pen) making marks
that cannot be removed.

lllegal: contrary to or forbidden by Ilaw,
especially criminal law.

lllegible: not clear enough to be read.
Inerasable: incapable of being erased.

Ineffective: not producing any significant or
desired effect.
Therefore, option C is the correct answer.

85.

[[[Common]||| Direction: Select the most
appropriate  option to substitute the
underlined segment in the given sentence.
If no substitution is required, select No.
improvement. |[||[End]||

| try to solve this problem at least for two
hours.

A. am try to solve

B. have been trying to solve

C. tried to be solving

D. No improvement

Ans. B

Sol. The tense of the underlined segment
is incorrect. Present perfect continuous
tense should be used here.

The present perfect continuous tense (also
known as the present perfect progressive
tense) shows that something started in the
past and is continuing at the present time.
The present perfect continuous is formed
using the construction has/have been + the
present participle (root + -ing).

Therefore, option B is the correct answer.

86.

[[[Common||| Direction: In the sentence
identify the segment which contains the
grammatical error. [||End]||

Cyclone Idai is regarded as one of the
worst tropical cyclone on record to affect
Africa and the Southern Hemisphere as a
whole.

A. cyclone lIdai is regarded

B. the worst tropical cyclone



C. as a whole

D. to affect Africa

Ans. B

Sol. ‘The worst tropical cyclone’ is
erroneous. The noun following the phrase
"one of the" is always a plural noun.
Therefore, ‘cyclone’ must be replaced with
‘cyclones’ to resolve disagreement with the
noun phrase.

Hence, option B is the correct answer.

87.

[[[ICommon]||| Direction: Select the most
appropriate word to fill in the blank. |||[End]||
There is hope that better forestry
management will help in the of the
wild life that is constantly facing threat
because of increasing human activities.

A. salvation

B. guarding

C. supervision

D. conservation

Ans. D

Sol. The wildlife is facing threat; hence, it
should be protected from the human
activities.
‘Conservation’ meaning ‘preservation,
protection, or restoration of the natural
environment and of wildlife’ is the apt fit for
the blank.

Hence, option D is the correct answer.

88.

[[[Common||| Direction: Select the correct
active form of the given sentence. |||End|||
The children were brought up with great
care.

A. They had brought up their children with
great care.

B. Their children brought them up with great
care.

C. They brought up their children with great
care.

D. They have been bringing up their
children with great care.

Ans. C

Sol. The following rules should be
considered while changing passive form to
active voice:

* Identify the subject of the sentence - who
is doing an action?

* Rewrite the sentence so the subject is
performing the action.

Therefore, option C correctly provides the
active form of the given sentence.

89.Select the wrongly spelt word.

A. Explain

B. Except

C. Expire

D. Expereince

Ans. D

Sol. Option D has the incorrectly spelt word.
The correct spelling is ‘experience’ which
means  ‘practical contact with and
observation of facts or events’.

Therefore, option D is the correct answer.

90.

[[[Common||| Direction: In the following
passage some words have been deleted.
Fill in the blanks with the help of the
alternatives  given. select the most
appropriate option for each blank.

Pigeon racing has become increasingly
popular in parts of China (###Q1###) the
country’s elite and its middle class. Sun
Yan, the deputy general-secretary of Beijing



Racing Pigeons Association, (###Q2###)
that at least 100,000 pigeon breeders live
in Beijing, and (###Q3###) 90,000 of them
are registered with Racing Pigeons
Associations at (###Q4##H#) levels, to
qualify for the games held in the spring and
autumn. Competitions can be lucrative for
(###Q5#H##) owners, with some prizes
amounting to tens of thousands of dollars.
Liu said in recent years, pigeon racing has
been surging in popularity across China.
IIEnd]|]

Select the most appropriate option for blank
No.5. A. pigeons

B. birds

C. animal

D. bird

Ans. D

Sol. The passage is about pigeons. Hence,
‘bird’ is the apt fit for the blank. Therefore,
option D is the correct answer.

91.Select the most appropriate option for
blank No.4.

A. different

B. differed

C. differential

D. differ

Ans. A

Sol. The blank needs an adjective to modify
the noun ‘levels’ which means ‘distinct’.

‘Different’” meaning ‘not the same as
another or each other; unlike in nature,
form, or quality’ is the apt fit for the blank.

Hence, option A is the correct answer.

92.
[[[Common||| Direction: In the following
passage some words have been deleted.

Fill in the blanks with the help of the
alternatives given. select the most
appropriate option for each blank.

Pigeon racing has become increasingly
popular in parts of China (###Q1###) the
country’s elite and its middle class. Sun
Yan, the deputy general-secretary of Beijing
Racing Pigeons Association, (###Q2###)
that at least 100,000 pigeon breeders live
in Beijing, and (###Q3###) 90,000 of them
are registered with Racing Pigeons
Associations at (###QA4###H) levels, to
qualify for the games held in the spring and
autumn. Competitions can be lucrative for
(###Q5###) owners, with some prizes
amounting to tens of thousands of dollars.
Liu said in recent years, pigeon racing has
been surging in popularity across China.
IIIEnd]|]

Select the most appropriate option for blank
No.3. A. utmost

B. almost

C. nearby

D. exact

Ans. B

Sol. We need a word which goes with ‘at
least’ specified in the first part of the
sentence. ‘At most’ meaning ‘not more
than’ is the apt fit for the blank.

Hence, option B is the correct answer.

93.Select the most appropriate option for
blank No.2.

A. said

B. clarified

C. told

D. advised

Ans. A



Sol. The sentence implies that Sun Yan,
the deputy general-secretary of Beijing
Racing Pigeons Association, conveyed that
at least 100,000 pigeon breeders live in
Beijing.

Out of the given options, ‘said’ meaning
‘utter words so as to convey information,
an opinion, a feeling or intention, or an
instruction’ is the apt word to fill in the
blank. Hence, option A is the correct

answer.

94,

Select the most appropriate option for blank
No.1.

A. against

B. along

C. among

D. about

Ans. C

Sol. The blank needs a preposition which
implies ‘occurring in or shared by (some
members of a group or community)’.
‘Among’ means the same.

Therefore, option C is the correct answer.

95.

[[[lCommon]||| Direction: Select the most
appropriate  meaning of the given idiom.
IIEnd]||

Pull yourself together

A. go to sleep

B. calm down

C. try to understand

D. do a good job

Ans. B

Sol. The phrase ‘pull yourself together
means ‘to recover control of one's
emotions’.

For example: You've got to pull yourself
together and find a job.
Therefore, option B is the correct answer.

96.

[[|[Common]||| Direction: Select the word
which means the same as the group of
words given. |||End]||

An inscription on a tombstone written in
memory of the deceased

A. pillar

B. epitaph

C. slab

D. basilica

Ans. B

Sol. The meanings of the words are:
Pillar: a tall vertical structure of stone,
wood, or metal, used as a support for a
building, or as an ornament or monument.
Epitaph: a phrase or form of words written
in memory of a person who has died,
especially as an inscription on a tombstone.
Slab: a large, thick, flat piece of stone or
concrete, typically square or rectangular in
shape.

Basilica: a large oblong hall or building with
double colonnades and a semicircular apse,
used in ancient Rome as a law court or for
public assemblies.

Therefore, option B is the correct answer.

97.

[[[Common]||| Direction: Select the antonym
of the given word. [||End]||

EMINENT

A. Exalted

B. Inconspicuous

C. Impressive

D. Distinguished



Ans. B

Sol. The meanings of the words are:
Eminent: (of a person) famous and
respected within a particular sphere.
Exalted: (of a person or their rank or status)
at a high or powerful level.

Inconspicuous: not clearly visible or
attracting attention.

Impressive: evoking admiration through
size, quality, or skill; grand, imposing, or
awesome.

Distinguished: very successful, authoritative,
and commanding great respect.

Therefore, option B is the correct answer.

98.

99.

[[[ICommon]||| Direction: Select the most
appropriate  option to substitute the
underlined segment in the given sentence.
If no substitution is required, select No
improvement. [||End]||

If you listen to the English news, it improve
your English.

A. it is improving

B. it will improve

C. it improved

D. No improvement

Ans. B

Sol. The given sentence is an example of
first conditional sentences. The first
conditional is a structure we use when we
want to talk about possibilities in the
present or in the future. The first conditional
has simple present after 'if' or ‘when’, then
the simple future in the other clause.
Hence, option B is the correct answer.

[[[Common]||| Direction: Select the most
appropriate  meaning of the given idiom.
IIEnd]|]

Give someone the cold shoulder

A. Ignore someone

B. give away a secret

C. do something pointless

D. pamper someone

Ans. A

Sol. If someone gives you the cold
shoulder, they deliberately stop being
friendly to you and ignore you.

For example: He was upset to find his
previously friendly colleagues giving him the
cold shoulder.

100.

[[[Common||| Direction: Select the word
which means the same as the group of
words given. |||End]||

An enclosure to keep the birds in

A. Aviary

B. Apiary

C. Stable

D. Sanctuary

Ans. A

Sol. The meanings of the words are:
Aviary: a large cage, building, or enclosure
for keeping birds in.

Apiary: a place where bees are kept; a
collection of beehives.

Stable: a building set apart and adapted for
keeping horses.

Sanctuary: a nature reserve.

Therefore, option A is the correct answer.



